Name::

Score:

[ Identifying Solutions - MCQ] Two-step: S3
Choose the correct solution that best describes each inequality.
A4
1) |7x-21|<49 2) —|24x|-20=52
a) (-0, =41 N [-10,0)  b) (=0, 10) M (4, =) a) (-oo,-3] b) (=eo, 31U [-3, o)
Q) (=00, 10] M [-4, o) d) (=eo, 10) M (-4, ) Q) [3,%) d) No solution
J L
a) (-6, ) b Gain complete access to the largest b) (=e0, 1)U (=1, )
0 (coo2) dlcollection of worksheets in all subjectsl} o) (1, )
x-9] Not a member;
5 —— =10 Please sign up to
gain complete
dccess,
a) (=00, =59] U [41, o0) k b) (=e0, 23] N [9, =)
Q) (=00, 41] U [59, o0) d www.mathworksheets4kids.com d) No solution
A4
7) |8x-24]>72 8) |x-12]|-2<1
a) (~o0,=6) L (12, ) b) (-0, 6) U (=12, ) a) (-o0,-9) b) (=0, 15) M (=9, )
C) (6, ) d) No solution c) (15,00) d) (=00, -9) M (=15, o)
N VAN

Printable Math Worksheets @ www.mathworksheets4kids.com




